ENERAL SUMMARY
Ross Dress For Less, #2584 Texas, 2012 Crockett Road Palestine, Texas 75801

Prepared for:

Project ID: 05032024
Scope: Metal Framing, Drywall, ACT Ceilings, Insulation, Doors l“
No. Of Floors: 1 %

Date: 5-Mar-24

BUILDING GSF 18,000
DESCRIPTION

General Req
Metals
Thermal & Moisture Protection
Openings
Finishes

TOTAL TRADE COST

OVERHEAD AND PROFIT 30%

1 RANCE 3%
CONTINGENCY 59
TAX

SUGGESTED BID 320,372




Scope:

Prepared for:
Project ID:

Drawing #

Detail #

Ross Dress For Less, #2584 Texas, 2012 Crockett Road Palestine, Texas 75801
05032024
Metal Framing, Drywall, ACT Ceilings, Insulation, Doors

DESCRIPTION

UNIT

QUANTITY WASTAGE

GENERAL REQUIREMENTS

QUANTITY
W/ WASTAG!

UNIT
E MANHOUR

HOURLY
WAGE

LABOR COST MAT. COST

COLUMNS

SUBTOTAL

S

1 Permits LS 1 0% 1 0.000 S - N - $ - $ 500.00 | §  500.00
2 Supervision and Coordination LS 1 0% 1 0.000 $ - $ - $ - $ 8,000.00 | $ 8,000.00
3 Submittals and Shop drawings LS 1 0% 1 0.000 S - N - $ - $ 500.00 | §  500.00
4 Final Cleaning LS 1 0% 1 0.000 $ - $ - $ - $ 2,000.00 | $2,000.00
5 Costs LS 1 0% 1 0.000 S - N - $ - $ 3,800.00 | $ 3,800.00
6 Temporary Control & Facilities LS 1 0% 1 0.000 $ - $ - $ - $ 2,500.00 | $2,500.00
7 Scaffolding LS 1 0% 1 0.000 S - N - $ - $ 3,000.00 | $ 3,000

20,300

Plan Notes

HSS 4 x 4 x 1/4" Steel Column @ 20'H

LBS

0.014

$ 55.00

S 0771$% 1.68

245

413.67

902.56

8" x 8" x 1/2" Base Plate

LBS

0.014

$ 55.00

$ 077 8% 1.45

222

15.09

2842

8" x 8" x 1/2" Cap Plate

LBS

0.014

$ 55.00

S 077 (8% 1.45

222

15.09

28.42

BEAM

Plan Notes

HSS 3 x 5 x 3/16" Beam

LBS

0.014

$ 55.00

$ 0.77

2.45

310.26

676.92

L 4x4x1/4"Beam

LBS

0.014

$ 55.00

07718 1.41

2.18

70.72

129.49

L 5x5x5/16" Beam

SUB! 'RACTING FEE

Subcontracting Fee (20% assumed, client to verify

THERMAL PROTECTION

ROOF INSULATION
Note: New Roof Membrane Along W/ Insulation Is Shown In
Drawings, But Google Map Shows Existing Roof. Kindly Verify It

2.18

1,059.98

oo | o0 |n|en|en

1,941.00

THERMAL & MOISTURE PROTECTION

B B
SUBTOTAL

@ | w|n|n

@ |w|w]|e

And Modify A

Plan Notes

(2" Thick) R-25 Tapered Rigid Roof Insulation
Note: By Landlord Under Shell Scope

SUBCONTRACTING FEE

Door Schedule /
A6.0

Subcontracting Fee (20% assumed, client to verify

14'-0" x 100" Storefront w/ 14'-0" x 7'-0" Sliding Door Including In It
Glazing: Insulated Glazing

Material: Aluminum

Frame Material: Aluminum

1,673.09

3,463.18

OPENINGS

EA

o | fm|e

w | o [w|e

0%

16.840

$ 55.00

N 926.20 | $ 9,625.00

$

10,551.20

$

10,551

926.20

9,625.00

30" x 7'-0" Single Leaf Door
Material: Hollow Metal
Frame Material: Hollow Metal

EA

0%

3.000

$ 55.00

N 165.00 | $ 1,055.79

1,220.79

$

1221

165.00

1,055.79

30" x 7'-0" Single Leaf Door w/ 180 Deg Door Viewer
Material: Hollow Metal
Frame Material: Hollow Metal

0%

3.000

$ 55.00

S 165.00 | $ 1,082.18

$

1,247.18

$

1,247

165.00

1,082.18

3-0" x 7'-0" Single Leaf Door w/ 5" x 30" One-way Vision Lite
Material: Solid Core Wood
Frame Material: Hollow Metal

0%

3.125

$ 55.00

$ 171.88 | $ 1,248.34

$

1,420.21

$

2,840

343.75

2,496.68

30" x 7'-0" Single Leaf Door w/ 5" x 30" Two Way Vision Lite
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

0%

3.125

$ 55.00

N 171.88 | $ 1,248.34

$

1,420.21

$

1,420

1,248.34

30" x 7'-0" Single Leaf Door w/ 180 Deg Door Viewer
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

©

0%

3.000

$ 55.00

N 165.00 | $ 1,120.65

$

1,285.65

$

2,571

330.00

2,241.30

30" x 7'-0" Single Leaf Door
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

0%

3.000

$ 55.00

N 165.00 | $ 1,074.34

$

1,239.34

$

3,718

495.00

3,223.01

30" x 7'-0" Single Leaf Door w/ 24" W x 12" H Prefinished Louver
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

©

0%

$ 55.00

$ 172.56 | $ 1,140.56

$

1,313.13

$

2,626

345.13

2,281.13

3'-0" x 7'-0" Single Leaf Door
Material: Solid Core
Frame Material: Hollow Metal

EA

0%

2.875

$ 55.00

N 158.13 | $ 1,074.34

$

1,232.46

$

1,232

158.13

1,074.34

6'-0" x 7'-0" Double Leaf Door
Material: Plastic Honey Comb
Frame Material: Hollow Metal

EA

0%

3915

N 21533 | § 1,573.70

$

1,789.03

$

1,789

21533

1,573.70

34" x 34" Prefinished Marathon Package Chute Security Door
Material: Metal
Frame Material: Metal

EA

0%

2213

N 121.69 | $  621.74

$

743.43

743

121.69

621.74

26" x 30" Roof Hatch
Material: Metal
Frame Material: Metal

EA

0%

2.100

N 115.50 | $ 1,086.85

$

1,202.35

$

1,202

$

115.50

1,086.85




A-801

Hardware
Schedule / A-801

Storefront Door Hardware Set As:
- Keyed Lockset (1 EA)

- 7 Pin Exterior/ Interior Cylinder (1 EA)

Note: Set Sensors To Open Doors When Approached On the Desired
|side

EA

0%

1.920

»

55.00

105.60

$

1,135.19

1240.79

1,241

105.60

1,135.19

Hardware Set As:

-1 Stop Face Mount Self Closer

-1 Delayed Exit Device w/ (7) Pin Mortise Cylinder
-1 Alarm Lock Push Bar (Model 715)

- Concealed Installation (Von Duprin EPT-10)

-1 Power Transfer Hinge & Detection System

EA

0%

2.250

»

55.00

123.75

$ 2,701.00

2,824.75

2,825

123.75

2,701.00

Hardware Set As:

-1 Stop Face Mount Self Closer

-1 Delayed Exit Device w/ (7) Pin Mortise Cylinder
-1 Alarm Lock-Push Bar Siren Lock (Model 700)

- Weather Stripped & Accessible Threshold

EA

0%

2.100

»

55.00

$

1,979.00

2,094.50

2,095

115.50

1,979.00

Hardware Set As:
-1 Stop Face Mount Self Closer

- 1 Kick Plate Push Side

-1 Trilogy T2 Lever Digital Lock (By Alarm Lock System) w/ (7) Pin
Mortise Cylinder

0%

1.725

»

55.00

94.88

$

77774

872.62

873

94.88

77774

Hardware Set As:

-1 Hinge Face Self Closer

- 1 Kick Plate Push Side

- 1 Latch set (#93KON14C626) w/ Curved Return Lever

EA

0%

1.385

»

55.00

76.18

616.74

692.92

76.18

616.74

Hardware Set As:
-1 Hinge Face Self Closer

- 1 Kick Plate Push Side

-1(7) Pin Cylinder w/ Curved Return Lever

- 1 Mortise Lock (45H7-TD-14-H-626) w/ Interlocking Deadbolt
Combine w/ Thumb Turn

EA

1.520

83.60

$

1,520.74

$

1,604.34

$

1,604

83.60

1,520.74

Hardware Set As:
-1 Hinge Face Self Closer

- 1 Kick Plate @ Push Side

-1 Latch set (#93K7-D-14C626) w/ Curved Return Lever
-1 (7) Pin Mortise Cylinder

1.550

»

55.00

$

690.74

$

3,104

341.00

2,762.96

Hardware Set As:

-1 Hinge Face Self Closer

- 1 Kick Plate @ Push Side

-1 Latch set (#93K7-D-14C626) w/ Curved Return Lever
-1(7) Pin Mortise Cylinder

-1 Marble Threshold

EA

0%

1.725

w

55.00

94.88

820.74

$

915.62

916

94.88

820.74

Hardware Set As:
-1 Hinge Face Self Closer

- 1 Kick Plate @ Push Side

-1 (6" x 16") Push Plate (Trimco 1001-9)
-1 (4" x 16") Pull Plate (Trimeo 1013-3B)
-1 Marble Threshold

EA

1.600

88.00

$

301.83

$

389.83

780

176.00

603.66

Hardware Set As:
-1 Padlock (LSDA SFIC2LC)
-1 (7) Pin Replacable Core

-1 (12") Chain

-1 Side Bolt

EA

1.100

»

55.00

60.50

126.31

$

186.81

60.50

126.31

Hardware Set As:

-1 Padlock (LSDA SFIC2LC2)
-1 (7) Pin Replacable Core
-1(12") Chain

-1 Side Bolt

EA

0%

1.100

60.50

$

126.31

$

186.81

187

60.50

126.31

Hardware Set As:
-1 Stop Face Mount Self Closer

- 1 Kick Plate @ Hall Side

~ITrilogy T2 Lever Digital Lock (BY Alarm Lock System)
-1(7) Pin Mortise Cylinder

-1 Electric Strike w/ Locknetics (VON Duprin 6211)

1.990

»

55.00

109.45

$

1,402.48

$

1,511.93

1512

109.45

1,402.48

Sign Access Panel Hardware Set As:
-1 Locket w/ (7) Pin Cylinder

Subcontracting Fee (20% assumed, client to verify

‘Wall Tag: P1 - Perimeter Furring Wall As; (363 LF, 20'-
H

EA

LS

0.625

P

55.00

3438

$

24.02

$

58.40

3438

24.02

0.000

1,006

wlw|n|n

wlw|n|e

LF

w

v

(1) Layer of 5/8" Gypsum Wall Board (On One Side)
-16-0"H

10%

No of Sheets (4'x8')

0%

0.280

48.00

13.44

17.21

30.65

7,663

3,360.00

4.302.50

Tappin;

10%

0.010

|

48.00

0.12

0.60

2,393

191442

478.61

Muddin

LBs

10%

0.285

48.00

3.25

16.93

7,022

1348.07

Screws

0%

0.000

o[

48.00

o |o|on|e

0.05

0.05

600

5,674.35

600.00

(1) Layer of 3/4" ERT Plywood (On One Side)
40" H @ Wainscot

10%

w |wln|nls| »

» |wloelals] »

No of Sheets (4'x8")

0%

0.320

48.00

77.84

3892

768.00

3.124.00

Nails

0%

0.000

48.00

62.48

0.05

188

187.50

3-5/8" Metal Stud @ 16" O.C. @ 20'H

0.360

48.00

17.28

0.
24.80

42.08

11472

4.710.81

6,760.89

3-5/8" Metal Runner @ Top @ 10' L.

0.180

48.00

8.64

12.40

21.04

763

313.27

449.60

3-5/8" Metal Runner @ Bottom @ 10' L

0.180

48.00

8.64

12.40

21.04

763

313.27

449.60

14 GA. Clip Angle @ 40" O.C.
- 4-0" O.C. Horizontal & 4-0" O.C. Vertical

0.225

48.00

10.80

2.12

12.92

4,685

3,915.86

768.67

R-13 Batt Insulation

7252

7977

0.011

| v [

48.00

0.53

0.96

1.49

11,869

421173

7,657.69

Sealant @ All

1450

1595

0.010

v

48.00

|| v |o|o|nln|sn

0.48

0.40

0.88

] o [

1,404

765.77

638.14

‘Wall Tag: P1 - Perimeter Furring Wall As; (7 LF, 20'-0"
H)

140

[ I ) (R A

[ P ) I




107

108

109

110

11

112

113

114

115

116

117

118

119

120

(1) Layer of /8" Gypsum Wall Board (On One Side) SF 88 10% 96 $ - [s -
No of Sheets (4'x8") EA 4 0% 4 0.280 $ 48.00 | S 1344 | § 1721 (8 3065 | § 123 $ 53.76 | $ 68.84
Tappin LF 44 10% 48 0010 [$ 4800[S$ 0488 0128 060 [ § 29 23.10 578
Mudding [ LBs 5 10% 5 0285 [§ 4800]S 13688 325[$ 1693 [$ 85 68.47 16.27
Screws|  EA 192 0% 192 0000 [$ 4800[S - [s8  00s[s 005 s 10 - 9.60
(1) Layer of 172" CDX Plywood (On One Side) SF 38 10% 96 N N
No of Sheets (4'x8") EA 4 0% 4 0.320 $ 48.00 | S 1536 |$ 2847 [ § 4383 | $ 175 61.44 113.88
Nails| _EA 300 0% 300 0.000 4800 [ S - 0.05 15 - 15.00
" Metal Stud @ 16" O. EA 5 0% 5 0.360 4800 [ S 17.28 42.08 221 90.95 130.53
3-5/8" Metal Runner @ Top (@ EA 1 0% 1 0.180 48.00 [ S 8.64 21.04 15 6.05 8.68
3-5/8" Metal Runner @ Bottom @ 10' L EA 1 0% 1 0.180 48.00 | 8.64 12.40 21.04 15 6.05 8.68
14 GA. Clip Angle @ 40" 0.C A
40" O.C. Horizontal & 4-0" O.C. Vertical EA 7 0% 7 0.225 $ 48.00 | S 10.80 | § 212 (8% 1292 |8 90 $ 75.60 | $ 14.84
R-13 Batt Insulation SF 140 10% 154 0.011 $ 48.00 | S 053]$% 096 | $ 149 | § 229 $ 8131 |§ 147.84
Sealant @ All LF 28 10% 31 0.010 $ 48.00 | S 048 [ § 040 [ $ 088 [ $ 27 $ 1478 | § 12.32
$ - $ -
:[\)all Tag: P1 - Perimeter Furring Wall As; (34 LF, 20'-0 SF 665 LF 34 s ~ N ~
(1) Layer of 3/4" APA A-D Plywood Backboard (On One Side) SE 152 10% 167 - -
No of Sheets (4'x8") EA 6 0% 6 0320 [§ 4800][S 1536 [$ 6346 [$  7882[$ 473 92.16 380.76
Nails| EA 450 % 450 0000 [$ 48.00[S $  005[8S 005 s 23 - 22.50
(1) Layer of /8" Gypsum Wall Board (On One Side) SF 665 10% 731 - -
No of Sheets (4'x8") EA 23 0% 23 0280 S 4800]S 13448 1721[$  3065[$ 705 309.12 395.83
Tapping LF 332 10% 366 0.010 4800 [ S 048 0.12 0.60 219 175.45 4386
Mudding [ LBs 35 10% 38 0285 48.00 [ S 13.68 3. 16.93 644 520.05
Screws|  EA 1104 0% 1104 0.000 48.00 [ S - 0.05 0.05 55 - 55.20
3-5/8" Metal Stud @ 16" 0.C. @ 20' H EA 26 0% 26 0.360 48.00 | 17.28 24.80 42.08 1,076 441.74 633.98
3-5/8" Metal Runner @ Top @ 10'L EA 3 0% 3 0180 [S 4800[S$ 8648 1240(8  2104]$ 72 $ 2938 [ § 4216
3-5/8" Metal Runner @ Bottom @ 10'L EA 3 0% 3 0180 [§ 4800[S 8648 1240(S  2104(S 72 $ 2938 [ § 4216
,I2‘%[‘:\6((?}’&"57'2.&;;4'f(’)'"tn C. Vertical EA 33 0% 33 0225 |S 4800 S 10808 2128 12928 429 $ 35888 | § 70.45
R-13 Batt Insulation SF 665 10% 731 0011 [$ 4800]S$ 053[8 0968 1498 1,088 $ 386.00 | § 701.82
Sealant @ All LF 136 10% 150 0010 [s 4800[S 0488  040$ 088 [8 132 $ 7181 [§ 59.84
$ - $ -
7 " erimeter Furri 53 = 200"
n)all : P1 - Perimeter Furring Wall As; (16 LF, 20'-0' SF 308 LF 16 $ - $ -
(1) Layer of /8" A-C, APA Plywood (On One Side) N
.pnywiod to Be Grade [ SF 144 10% 158 s s )
No of Sheets (4'x8") EA s 0% 5 0320 4800 [ S 1536 57.31 72.67 363 76.80
Nails| _EA 375 0% 375 0.000 4800 [ S 0.05 0.05 19 -
3-5/8" Metal Stud @ 16" 0.C. @ 20' H EA 12 0% 12 0.360 48.00 [ S 17.28 24.80 42.08 506 207.88
3-5/8" Metal Runner @ Top @ 10' L. EA 2 0% 2 0.180 48.00 | 8.64 12.40 21.04 34 13.82
3-5/8" Metal Runner @ Bottom @ 10'L EA 2 0% 2 0180 [S 4800[S$ 8648 1240(8  2104]$ 34 $ 13828
}:‘ﬁ,ﬂf"o(_:g_p&':ﬂzn%IAS'CO[)%,C(‘)_C Vertical EA 15 0% 15 0225 |S 4800(S 1080 |$ 212 |$  1292[S 199 s 166.43 | $
R-13 Batt Insulation SF 308 10% 339 0.011 $ 48.00 | S 053 (8% 096 | $ 149 | § 504 $ 179.00 | $
Sealant @ All LF 64 10% 70 0010 [§ 4800][S$ 0488 0408 088§ 62 $ 3379 [§
$ - $ -
:lN'all Tag: P1 - Perimeter Furring Wall As; (58 LF, 20'-0" SF 1155 LF 58 s ~ 5 ~
(1) Layer of 1/2" CDX Plywood (On One Side) SF 295 10% 324 - -
No of Sheets (4'x8") EA 11 % 11 0320 [s 4800[S 1536 [$ 2847[$  4383[$ 482 168.96 31317
Nails EA 825 0% 825 0.000 $ 48.00 | S - $ 005 |$ 005|$ 41 - 41.25
(1) Layer of 5/8” Gypsum Wall Board (On One Side) SF 551 10% 606 - -
No of Sheets (4'x8") EA 19 0% 19 0.280 4800 [ S 13.44 17.21 30.65 582 25536 32699
Tapping LF 276 10% 303 0.010 48.00 [ S 048 0.12 0.60 182 145.46 36.37
Mudding LBs 29 10% 32 0.285 48.00 | S 13.68 325 16.93 534 43116 102.43
Screws EA 912 0% 912 0.000 48.00 | § - 0.05 0.05 46 - 45.60
3-5/8" Metal Stud @ 16" 0.C. @ 20' H EA 44 0% 44 0360 [S 4800]S 17.28 24.80 4208 1,835 753.56 1,081.50
3-5/8" Metal Runner @ Top @ 10'L EA 6 0% 6 0180 [§ 4800[S 8.64 12.40 21.04 122 50.11 71.92
5/8" Metal Runner @ Bottom @ 10' L. EA 6 0% 6 0180 [S 4800[S 8.64 12.40 21.04 122 50.11 71.92
R-13 Batt Insulation SF 1155 10% 1270 0.011 $ 48.00 | S 0.53 0.96 1.49 1,890 670.71 1,219.47
Sealant @ All LF 232 10% 255 0010 [$ 4800]S$ 048[8  040($ 088 [$ 225 $ 12250 | § 102.08
$ - $ -
‘Wall Tag: P3 - Metal Stud Wall As; (15 LF, 20'-0" H) SF 300 LF 15 $ - |8 -
(1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SF 418 10% 460 - -
No of Sheets (4'x8") EA 15 % 15 0280 [§ 48.00[S 13448  1721[$  3065[$ 460 201.60 258.15
Tapping LF 209 10% 230 0.010 $ 48.00 | S 048 | $ 012 |$ 060 | $ 138 110.43 27.61
Muddin, LBs 22 10% 24 0.285 $ 48.00 | S 13.68 | § 32518 1693 | § 405 32733 77.76
Screws|  EA 720 0% 720 0.000 4800 [ S - 0.05 0.05 36 - 36.00
3-5/8" Metal Stud @ 16" 0.C. @ 20' H EA 11 0% 11 0.360 48.00 [ S 17.28 24.80 42.08 475 194.89 279.70
3-5/8" Metal Runner @ Top @ 10' L EA 2 0% 2 0.180 48.00 [ S 8.64 12.40 21.04 32 12.96 18.60
3-5/8" Metal Runner @ Bottom @ 10' L EA 2 0% 2 0.180 48.00 | 8.64 12.40 21.04 32 12.96 18.60
3-5/8" Metal Stud Bracing @ 4-0" 0.C. @ 12'H EA 4 0% 4 0216 [S 4800[S 1037]8 14888  2525[$ 95 38.88 55.80
3-5/8" Horizontal Metal Bridging @ 4-0"O.C. @ 2'L EA 4 0% 4 003 S 4800][S 1738 2488 421 (s 16 648 9.30
Sealant @ Al F i LF 60 10% 66 0010 [s 4800[S 0488  040$ 088 s 58 3168 26.40
N . D " owsn
\:Vall T{ig. P3 - Metal Stud Wall As; (22 LF, 9'-6"" H) SF 209 LF 15 s R 5 R
1 Wall
(1) Layer of /8" Gypsum Wall Board (On Both Sides) SF 418 10% 460 $ - [s -
No of Sheets (4'x8") EA 15 0% 15 0.280 $ 48.00 | S 1344 | § 1721 (8 30.65 | § 460 $ 201.60 | $ 258.15
Tapping LF 209 10% 230 0010 [s 4800[S$ 0488 0128 0608 138 110.35 27.59
Mudding [ LBs 22 10% 24 0285 [§ 4800][S 1368[$ 325[$  1693[$ 405 327.08 77.71
Screws|  EA 720 0% 720 0000 [S 4800[S - [8  005[s 005 s 36 - 36.00
(1) Layer of 172" CDX Plywood (On One Side) SF 95 10% 105 - -
No of Sheets (4'x8") EA 4 0% 4 0320 [$ 4800][S$ 1536 28.47 4383 175 61.44 113.88
Nails| EA 300 0% 300 0.000 48.00 - 0.05 0.05 15 - 15.00
3-5/8" Metal Stud @ 16" O.C. @ 10'H EA 11 % 11 0.180 48.00 8.64 12.40 21.04 237 97.44 139.85
3-5/8" Metal Runner @ Top @ 10' L. EA 2 0% 2 0.180 48.00 8.64 12,40 21.04 32 12.96 18.60
3-5/8" Metal Runner @ Bottom @ 10'L EA 2 0% 2 0.180 48.00 8648 1240 |3 21.04 | § 32 E 12.96 | § 18.60
3-5/8" Metal Stud Bracing @ 4-0" 0.C. @ 12'H EA 4 0% 4 0216 [S 4800[S 10378 1488[$  2525[8$ 95 $ 3888 [ § 55.80
3-5/8" Horizontal Metal Bridging @ 4-0" O.C. @ 2'L EA 4 0% 4 003 [§ 4800[S 1738 2488 421[s 16 $ 648§ 9.30




122

123

124

125

126

127

128

129

130

131

132

133

134

135

136

137

138

139

140

141

142

143

124

145

146

147

148

149

150

152

153

166

167

168

169

170

171

172

173

174

175

176

177

178

179

180

181

182
183

184

185

186

187

188

189

190

191

192

AL0-A4.2

Plan Notes

Sealant @ All P LF 60 10% 66 0.010 $ 48.00 | S 048 | § 040 | $ 088 |$ 58 $ 3168 | § 26.40
$ = $ -
‘Wall Tag: P3 - Metal Stud Wall As; (126 LF, 9'-6'' H) SF 1197 LF 126 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SF 2388 10% 2627 s - Is N
No of Sheets (4'x8') EA 83 0% 83 0.280 $ 48.00|S 13.44 17.21 30.65 2,544 1,115.52 1,428.43
Tapping LF 1194 10% 1313 0.010 $ 48.00 S 0.48 0.60 788 630.46 157.62
Mudding LBs 124 10% 137 0.285 $ 48.00 | S 13.68 16.93 2313 1,868.69 443.95
Screws EA 3984 0% 3984 0.000 $ 48.00 | S - 0.05 199 - 199.20
(1) Layer of 1/2" CDX Plywood (On Both Sides) SF 864 10% 951 - -
No of Sheets (4'x8') EA 30 0% 30 0.320 48.00 | S 15.36 28.47 43.83 1,315 460.80 854.10
Nails EA 2250 0% 2250 0.000 48.00 | S 0.05 0.05 113 - 112.50
3-5/8" Metal Stud @ 16" 0.C. @ 10'H EA 95 0% 95 0.180 48.00 | S 8.64 12.40 21.04 1,993 818.53 1,174.74
5/8" Metal Runner @ Top @ 10' L EA 13 0% 13 0.180 48.00 | § 8.64 12.40 21.04 265 108.86 156.24
3-5/8" Metal Runner @ Bottom @ 10' L EA 13 0% 13 0.180 $ 48.00 S 8.64 12.40 21.04 265 108.86 156.24
3-5/8" Metal Stud Bracing @ 4'-0" O.C. @ 12'H EA 32 0% 32 0.216 $ 48.00 | S 10.37 14.88 25.25 795 326.59 468.72
3-5/8" Horizontal Metal Bridging @ 4'-0" O.C. @ 2'L EA 32 % 32 0.036 S 48.00 | S 1.73 248 421 133 54.43 78.12
Sealant @ All P LF 504 10% 554 0.010 $ 48.00 | S 048 0.40 0.88 488 266.11 221.76
‘Wall Tag: P5 - Metal Stud Wall As; (11 LF, 20'-0" H) SF 220 LF 11 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SF 440 10% 484 $ - $ -
No of Sheets (4'x8') EA 16 0% 16 0.280 48.00 13.44 17.21 30.65 490 215.04 275.36
Tapping LF 220 10% 242 0.010 48.00 0.48 0.12 0.60 145 116.16 29.04
Mudding LBs 23 10% 25 0.285 48.00 13.68 325 16.93 426 344.30 81.80
Screws EA 768 0% 768 0.000 48.00 - 0.05 0.05 38 - 38.40
(1) Layer of 3/4" APA A-D Plywood Backboard (On Both Sides) SF 264 10% 290 - -
No of Sheets (4'x8') EA 10 0% 10 0.320 S 48.00 | S 1536 | § $ 78.82 | § 788 153.60 634.60
Nails EA 750 0% 750 0.000 $ 48.00 | S - $ $ 005|$ 38 - 37.50
6" Metal Stud @ 16" O.C. @ 20' H EA 8 0% 8 0.360 $ 48.00 | S 17.28 | § $ 46.88 | $ 388 142.92 244.81
6" Metal Runner @ Top @ 10' L EA 1 0% 1 0.180 $ 48.00|S 8.64 | $ $ 2344 | 8§ 26 9.50 16.28
6" Metal Runner @ Bottom @ 10'L EA 1 0% 1 0.180 $ 48.00 S 864 | 8% $ 2344 | § 26 9.50 16.28
Sealant @ All P LF 44 10% 48 0.010 S 48.00 | S 048 | § $ 088 |$ 43 23.23 19.36
‘Wall Tag: P5 - Metal Stud Wall As; (22 LF, 20'-0"" H) SE 440 LF 22 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SF 683 10% 751 $ - $ -
No of Sheets (4'x8') EA 24 0% 24 0.280 $ 48.00|S 1344 | § 1721 | § 3065 | $ 736 $ 32256 | § 413.04
Tapping LF 341 10% 375 0.010 $ 48.00 S 048 | § 0128 0.60 | $ 225 180.18 45.05
Mudding LBs 35 10% 39 0.285 S 48.00 | S 13.68 | § 325|% 1693 | § 661 534.05 126.88
Screws EA 1152 0% 1152 0.000 $ 48.00 | S - $ 005|$ 005|$ 58 - 57.60
(1) Layer of 1/2" CDX Plywood (On One Side) SF 263 10% 289 - -
No of Sheets (4'x8') EA 10 0% 10 0.320 $ 48.00 S 1536 | § 2847 | § 4383 | § 438 153.60 284.70
Nails EA 750 0% 750 0.000 $ 48.00 S $ 005|$ 005|$ 38 - 37.50
(1) Layer of 3/4" APA A-D Plywood Backboard (On Both Sides) SF 144 10% 158 - -
No of Sheets (4'x8") EA S 0% 5 0.320 $ 48.00 | S 1536 |$ 6346 [ $ 78.82 | § 394 76.80 317.30
Nails EA 375 0% 375 0.000 $ 48.00|S 0.05 0.05 19 - 18.75
6" Metal Stud @ 16" O.C. @ 20'H EA 17 0% 17 0.360 48.00 17.28 29.60 46.88 775 285.83 489.62
6" Metal Runner @ Top @ 10'L EA 2 0% 2 0.180 48.00 8.64 14.80 23.44 52 19.01 32.56
6" Metal Runner @ Bottom @ 10' L EA 2 0% 2 0.180 48.00 8.64 14.80 23.44 52 19.01 32.56
Sealant @ All i LF 88 10% 97 0.010 48.00 048 0.40 0.88 85 46.46 38.72
$ - $ -
‘Wall Tag: P6 - Metal Stud Wall As; (52 LF, 20'-0"' H) SF 1040 LF 52 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SF 2080 10% 2288 - -
No of Sheets (4'x8") EA 72 0% 72 0.280 S 48.00 | S 1344 | § 1721 |8 3065 | $ 2207 967.68 1,239.12
Tapping LF 1040 10% 1144 0.010 $ 48.00 | S 048 | $ 012 |$ 060 | $ 686 549.12 137.28
Muddin, LBs 108 10% 119 0.285 $ 48.00 | S 13.68 | § 32518 1693 |$ 2,014 1,627.59 386.67
Screws EA 3456 0% 3456 0.000 $ 48.00|S - $ 005 8% 005 8% 173 - 172.80
(1) Layer of 3/4" APA A-D Plywood Backboard (On Both Sides) SF 416 10% 458 - -
No of Sheets (4'x8") EA 15 % 15 0.320 $ 48.00 | S 1536 | § 63.46 | § 7882 |$ 1,182 230.40 951.90
Nails EA 1125 0% 1125 0.000 $ 48.00 | S - $ 005 |$ 005|$ 56 - 56.25
8" Metal Stud @ 16" O.C. @ 20'H. EA 39 0% 39 0.360 $ 48.00|S 1728 | § 36.80 | § 5408 |$ 2114 675.61 1,438.80
8" Metal Runner @ Top @ 10'L EA 5 0% 5 0.180 48.00 | S 8.64 18.40 27.04 141 44.93 95.68
8" Metal Runner @ Bottom @ 10'L EA S 0% s 0.180 48.00 | S 8.64 18.40 27.04 141 44.93 95.68
Sound Blanket Insulation SF 1040 10% 1144 0.011 48.00 | S 1.36 1.89 2,160 604.03 1,555.84
Sealant @ All i LF 208 10% 229 0.010 48.00 | 048 0.40 0.88 201 109.82 91.52
$ - $ -
Wall Tag: P6 - Metal Stud Wall As; (58 LF, 20'-0'"' H) SF 1160 LF 58 $ - |8 -
(1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SF 1711 10% 1882 - -
No of Sheets (4'x8') EA 59 0% 59 0.280 S 48.00 | S 1344 | § $ 3065 | $ 1,808 792.96 1,015.39
Tapping LF 856 10% 941 0.010 $ 48.00 | S 048 | § $ 060 | $ 565 451.70 112.93
Muddin, LBs 89 10% 98 0.285 $ 48.00 | S 13.68 | § $ 1693 | $ 1,657 1,338.85 318.07
Screws EA 2832 0% 2832 0.000 $ 48.00|S - $ $ 005 8% 142 - 141.60
(1) Layer of 1/2" CDX Plywood (On One Side) SF 269 10% 296 - -
No of Sheets (4'x8") EA 10 % 10 0.320 $ 48.00 | S 1536 | § 2847 | 8 4383 | § 438 153.60 284.70
Nails EA 750 0% 750 0.000 $ 48.00 | S - $ 005|$ 005|$ 38 - 37.50
(1) Layer of 5/8" A-C, APA Plywood (On One Side) - . 3 3
-P; wgud to Be Grade ’ SF 6 10% s S R N
No of Sheets (4'x8") EA 3 % 3 0.320 $ 48.00 | S 1536 | § 57318 72,67 | § 218 $ 46.08 | $ 171.93
Nails EA 225 0% 225 0.000 $ 48.00 | S - $ 005(8$ 005(8% 11 $ - $ 11.25
(1) Layer of 3/4" FRT Plywood (On One Side) S m 0% 255 B s R
H @ Wainscot
No of Sheets (4'x8") EA 8 0% 8 0.320 $ 48.00 | S 1536 | § 6248 | § 77.84 | § 623 $ 122.88 | $ 499.84
Nails EA 600 0% 600 0.000 $ 48.00 | S - $ 005 (8% 005(8% 30 $ - $ 30.00
8" Metal Stud @ 16" O.C. @ 20'H. EA 44 0% 44 0.360 $ 48.00|S 17.28 36.80 54.08 2,358 753.56 1,604.81
8" Metal Runner @ Top @ 10'L EA 6 0% 6 0.180 48.00 8.64 18.40 27.04 157 50.11 106.72
8" Metal Runner @ Bottom @ 10' L EA 6 % 6 0.180 48.00 8.64 18.40 27.04 157 50.11 106.72
Sound / Blanket Insulation SF 1160 10% 1276 0.011 48.00 0.53 1.36 1.89 2,409 673.73 1,735.36
Sealant @ All i LF 232 10% 255 0.010 48.00 048 0.40 0.88 225 g 122.50 102.08
$ - $ -
‘Wall Tag: P9A - Metal Stud Wall As; (39 LF, 12'-0" H) SF 464 LF 39 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On One Side) SF 494 10% 543 - -
No of Sheets (4'x8") EA 17 0% 17 0.280 S 48.00 | S 1344 | § 1721 |8 3065 | § 521 228.48 292.57
Tapping LF 247 10% 272 0.010 $ 48.00 | S 048 | $ 012 ]$ 060 | $ 163 130.35 32.59
Muddin, LBs 26 10% 28 0.285 $ 48.00 | S 13.68 | § 32518 1693 | § 478 386.36 91.79




240

241

245

247

Screws| EA 816 0% 816 0000 S 4800]S - s 00s]s 005]$ 41 s - Is 40.80
(1) Layer of 3/4” APA A-D Plywood Backboard (On One Side) SF 226 10% 249 5 ~ [s N
No of Sheets (4'x8") EA 8 0% 8 0320 [ 48.00]S 1536 | S 6346|S  7882[$ 631 $ 12288 | § 507.68
Nails| __EA 600 0% 600 0000 S 48.00]S S 005]S 005§ 30 $ $ 30.00
1) Layer of 5/8" A-C, APA Plywood (On One Side N
(—P:ngmd to Be Grade | Y ‘ ) SF 371 10% 408 $ - s -
No of Sheets (4'x8") EA 13 0% 13 0320 [ 48.00]S 1536 72.67 945 199.68 745.03
Nails| _EA 975 0% 975 0.000 48.00 - 0.05 49 - 4875
8" Metal Stud @ 16" O.C. @ 12'H EA 29 % 29 0216 48.00 1037 32.45 951 304.02 647.46
8" Metal Runner @ Top @ 10' L EA 4 0% 4 0.180 48.00 8.64 27.04 105 33.70 71.76
8" Metal Runner @ Bottom @ 10'L EA 4 0% 1 0.180 48.00 8.64 27.04 105 33.70 71.76
8" Metal Stud Bracing @ 40" O.C. @ 12'H EA 10 0% 10 0216 48.00 | S 10.37 32.45 316 101.09 21528
8" Horizontal Metal Bridging @ 4-0" O.C. @ 2' L EA 10 0% 10 0.036 48.00 | S L73 541 53 16.85 35.88
Sound Blanket Insulation SE 464 10% 511 0.011 4800 | S 053 1.89 964 269.72 694.74
Sealant @ All i LE 156 10% 172 0010 48.00 | § 048 0.8 151 8237 68.64
$ - [s -
‘Wall Tag: P9B - Metal Stud Wall As; (24 LF, 9'-6" H) SF 228 LF 24 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On One Side) SE 228 10% 251 - -
No of Sheets (4'x8") EA 8 0% 8 0280 S 48.00]S 1344 ]S 1721[$  3065[$ 245 107.52 137.68
Tapping LF 114 10% 125 0010 [§ 4800]S 0488 012]$ 060 | § 75 60.19 15.05
Muddin LBs 12 10% 13 0285 |s 4800S 13685 325|% 16938 221 178.41 42.39
Screws| _EA 384 0% 384 0000 S 48.00]S - s o00ss 005§ 19 - 19.20
(1) Layer of 1/2" CDX Plywood (On One Side) SE 228 10% 251 - -
No of Sheets (4'x8") EA 8 % 8 0320 [ 48.00]S 1536 ]S  2847|$ 4383 [$ 351 122.88 22776
Nails| _EA 600 0% 600 0000 S 4800]S - s o00s]s 005§ 30 - 30.00
1) Layer of 5/8" A-C, APA Plywood (On One Side - , . .
fP; wgud to Be Grade [ ’ ‘ i SF 28 10% 1 $ 8 -
No of Sheets (4'x8") EA 8 % 8 0320 [ 4800]S 1536 ]S 5731|$  7267|$ 581 s 12288 | § 458.48
Nails| EA 600 0% 600 0000 [$ 4800]S - [8  005[s 005§ 30 $ - Is 30.00
3-5/8" Metal Stud @ 16" 0.C. @ 10' H EA 18 0% 18 0180 |$ 48.00]S 86485 12408 21048 380 $ 15591 | § 22376
3-5/8" Metal Runner @ Top @ 10'L EA 2 0% 2 0.180 48.00 8.64 12.40 21.04 50 20.74 29.76
3-5/8" Metal Runner @ Bottom @ 10' L EA 2 0% 2 0.180 48.00 8.64 12.40 21.04 50 20.74 29.76
3-5/8" Metal Stud Bracing @ 4-0" 0.C. @ 12 H EA 3 0% 6 0216 48.00 1037 14.88 2525 151 62.21 89.28
3-5/8" Horizontal Metal Bridging @ 4-0" O.C. @ 2'L EA 6 0% 6 0.036 48.00 1.73 248 421 25 10.37 14.88
Sound Blanket Insulation SE 228 10% 251 0011 |$ 48.00]S 053]  136]$ 189 [8 474 $ 13242 | § 341.09
Sealant @ All LF 96 10% 106 0010 [$ 4800]S 0485 040 S 088 [§ 93 $ 50.69 S 4224
$ - $ -
Wall Tag: P9C - Metal Stud Wall As; (8 LF, 9'-0" H) SF 7 LF B B s B
(1) Layer of 5/8" A-C, APA Plywood (On One Side) N
-Plywr{nd to Be Grade | SF 144 10% 158 $ A -
No of Sheets (4'x8") EA 5 0% 5 0.320 48.00 | S 1536 57.31 72.67 363 76.80 286.55
Nails| _EA 375 0% 375 0.000 48.00 | S - 0.05 0.05 19 - 18.75
6" Metal Stud @ 16" O.C. @ 10'H EA 6 0% 6 0.180 4800 | S 8.64 14.80 2344 141 51.97 89.02
6" Metal Runner @ Top @ 10' L EA 1 0% 1 0.180 48.00 | $ 3.64 14.80 2344 19 691 11.84
6" Metal Runner @ Bottom @ 10' L. EA 1 0% 1 0180 S 48.00]S 8.64 14.80 2344 19 691 11.84
6" Metal Stud Bracing @ 4-0"0.C. @ 12'H EA 2 0% 2 0216 | 48.00]S 1037 17.76 28.13 56 20.74 35.52
6" Horizontal Metal Bridging @ 40" O.C. @ EA 2 0% 2 0036 | 4800]S 173 296 4.69 9 346 592
Sound Blanket Insulation SF 72 10% 79 0011 S 4800]S 053 136 1.89 150 4182 10771
Sealant @ All i LF 32 10% 35 0010 _[$ 48.00]S 0488 040$ 088 | § 31 $ 16.90 | § 14.08
$ - $ -
‘Wall Tag: P9D - Metal Stud Wall As; (13 LF, 9'-0" H) SF 117 LF 13 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SE 234 10% 257 -
No of Sheets (4'x8") EA 9 % 9 0280 S 48.00]S 1344 ]S 1721[$  3065]$ 276 154.89
Tapping LF 117 10% 129 0010 [$ 4800]S 0488 012]$ 060 | § 77 15.44
Muddin; LBs 12 10% 13 0285 |5 4800S 1368 (S  325]$ 1693 [s 227 43.50
Screws|  EA 432 0% 432 0000 S 48.00]S - s o00ss 005§ 22 21.60
(1) Layer of 1/2" CDX Plywood (On One Side) SE 17 10% 129 -
No of Sheets (4'x8") EA s 0% 5 0320 S 4800]S 1536 ]S  2847[$ 4383 S 219 14235
Nails| __EA 375 0% 375 0000 S 4800]S -~ s 005[s 0053 19 18.75
3-5/8" Metal Stud @ 16" 0.C. @ 10'H EA 10 0% 10 0180 |S 48.00]S 8.64 12.40 21.04 206 121.20
5/8" Metal Runner @ Top @ 10'L EA 1 0% 1 0.180 48.00 8.64 12.40 21.04 27 16.12
5/8" Metal Runner @ Bottom @ 10' L EA 1 % 1 0.180 48.00 8.64 12.40 21.04 27 16.12
3-5/8" Metal Stud Bracing @ 4-0" 0.C. @ 12'H EA 3 0% 3 0216 48.00 1037 14.88 2525 82 4836
3-5/8" Horizontal Metal Bridging @ 4-0" O.C. @ 2'L EA 3 0% 3 0.036 48.00 .73 | 8 248 | S 421 [ 14 E E 8.06
Sound Blanket Insulation SE 117 10% 129 0011 | 4800]S 053]  136]$ 1898 243 $ $ 175.03
Sealant @ All i LF 52 10% 57 0010 [$ 4800]S 0485 040 S 088§ 50 s $ 22.88
$ $ -
‘Wall Tag: PIE - Metal Stud Wall As; (8 LF, 9'-0"" H) SF 72 LF 8 $ - $ B
(1) Layer of 5/8" Gypsum Wall Board (On One Side) SE 72 10% 79 $ - [s -
No of Sheets (4'x8") EA 3 0% 3 0280 |5 4800S 13445 1721 [$ 30658 % 5 4032 [ $ 51.63
Nails| __EA 225 0% 225 0000 [$ 48.00]S - s o00ss 005§ 11 $ - Is 11.25
(1) Layer of 5/8" A-C, APA Plywood (On One Side) .
“Plywoodto Be Grade 1 SF 2 10% 7 $ - s -
No of Sheets (4x8) EA 3 0% 3 0320 |5 4800S 1536 [$ 5731 [$  7267]s 218 5 46.08 | $ 171.93
Nails| _EA 225 0% 225 0.000 48.00 | S - 0.05 0.05 1 - 11.25
3-5/8" Metal Stud @ 16" O0.C. @ 10 H EA 6 0% 6 0.180 48.00 | S 8.64 12.40 21.04 127 51.97 74.59
3-5/8" Metal Runner @ Top @ 10' L EA 1 0% 1 0.180 4800 | S 8.64 12.40 21.04 17 691 9.92
3-5/8" Metal Runner @ Bottom @ 10' L EA 1 0% 1 0.180 48.00 | § 3.64 12.40 21.04 17 691 9.92
3-5/8" Metal Stud Bracing @ 4-0"0.C.@ 12'H EA 2 0% 2 0216 | S 48.00]S 10.37 14.88 2505 50 20.74 29.76
3-5/8" Horizontal Metal Bridging @ 4-0" O.C. @ 2'L EA 2 0% 2 0036 | 48.00]S 173 248 421 8 346 4.96
Sound ion Blanket Insulation SE 72 10% 79 0011 _|$ 4800]S 053 1.36 1.89 150 4182 10771
Sealant @ All T i LF 32 10% 35 0010 S 4800]S 048 040 0.8 31 16.90 14.08
$ - [s -
‘Wall Tag: P9F - Metal Stud Wall As; (16 LF, 9'-0'" H) SF 144 LF 16 $ - $ -
(1) Layer of 5/8" Gypsum Wall Board (On One Side) SE 144 10% 158 $ - Is N
No of Sheets (4'x8") EA 5 0% 5 0280 S 48.00]S 1344]$  1721]$  3065[$ 153 $ 67.20 [ 86.05
Nails| _EA 375 % 375 0000 [$ 48.00]S - s o00ss 005§ 19 s - Is 18.75
(1) Layer of 5/8" A-C, APA Plywood (On One Side) N
-Plywood to Be Grade | SF 144 10% 18 $ 8 N
No of Sheets (4'x8") EA 5 0% 5 0320 | 48.00]S 1536 ]S  5731[$  7267[$ 363 $ 76.80 | S 286.55
Nails| _EA 375 % 375 0000 [$ 4800]S - s o00ss 005§ 19 s - Is 18.75
6" Metal Stud @ 16" O.C. @ 10'H EA 12 0% 12 0180 [$ 4800]S 8648 14808  2344|S 282 $ 103.94 | 5 178.05




PROJECTED COST
OVERHEAD AND PROFIT
RANC

SUGGESTED BID

$224,878
$67,463
$6,746
$11,244
$10,041

$320372

284 6" Metal Runner @ Top @ 10'L EA 2 0% 2 0.180 $ 48.00 | S 8.64 | § 14.80 | $ 2344 | $ 38 $ 1382 [ § 23.68
285 6" Metal Runner @ Bottom @ 10'L EA 2 0% 2 0.180 |5 4500[S 864 [S 1480]s 2344|538 5 1382 [ 2368
286 6" Metal Stud Bracing @ 4'-0"O.C. @ 12'H EA 4 0% 4 0.216 $ 48.00 | S 10.37 | § 17.76 28.13 113 4147 71.04
287 6" Horizontal Metal Bridging @ 4'-0" O.C. @ 2'L EA 4 0% 4 0.036 $ 48.00 | S 1.73 2.96 4.69 19 6.91 11.84
288 Sound ation Blanket Insulation SF 144 10% 158 0.011 $ 48.00 | S 0.53 1.36 1.89 299 83.64 215.42
289 Sealant @ All Penetrat LF o 10% 70 0010 |5 4800]s 048 040 0.8 © 3379 2816
290 'Wall Tag: P10 - Metal Stud Wall As; (1 LF, 20'-0" H) SF 2 i i 5 s N
21 (1) Layer of 5/8" Gypsum Wall Board (On Both Sides) SF ) 10% ) 5 5
292 No of Sheets (4'x8") EA 2 0% 2 0.280 $ 48.00 13.44 17.21 30.65 61 26.88 34.42
293 Nails EA 150 0% 150 0.000 48.00 - 0.05 0.05 8 - 7.50
294 6" Metal Stud @ 16" O.C. @ 20'H EA 1 0% 1 0.360 48.00 1728 [ $ 29.60 46.88 35 12.99 2226
203 6" Metal Runner @ Top @ 10 L EA 0 0% 0 0.180 45.00 S64 14.80 2344 2 086 148
296 6" Metal Runner @ Bottom @ 10' L EA 0 0% 0 0.180 $ 48.00 | S 864 | § 14.80 | § 2344 | § 2 $ 086 |$ 1.48
297 Sealant @ All LF 4 10% 4 0.010 $ 48.00 | S 048 | § 040 | § 0.88 | § 4 $ 211 (8% 1.76
s -~ s -
298 Wall Tag: P11 - Furring Wall As; (18 LF, 20'-0" H) SF 360 iF s s s -
299 (1) Layer of 5/8" Gypsum Wall Board (On One Side) SF 360 10% 396 $ - $ -
300 No of Sheets (4x8) |__EA 13 0% 3 0280 |5 4800(S  1344[S 1721 |5 3065|5398 s mm|s  omn
301 Nails EA 975 0% 975 0.000 $ 4800 |8 - § 0.05 0.05 49 - 48.75
302 3-5/8" Metal Stud @ 16" O.C. @ 20' H EA 14 0% 14 0.360 48.00 17.28 24.80 42.08 570 233.86 335.64
303 3-5/8" Metal Runner @ Top @ 10' L. EA 2 % 2 0.180 48.00 8.64 12.40 21.04 38 15.55 22.32
304 3-5/8" Metal Runner @ Bottom @ 10'L EA 2 0% 2 0.150 45.00 8645 1240 2104 38 15.55 223
305 Sealant @ AIl g LF 7 10% 79 0010 45.00 0.4 040 058 70 38.02 3L68
306 Corner Filler Wall As; (10 LF, 20'-0" H) SF 200 LF 10 5 s -
307 (1) Layer of 5/8" Gypsum Wall Board (On One Side) SF 200 10% 220 - -
308 No of Sheets (4'x8') EA 7 0% 7 0.280 $ 48.00 | S 1344 [ $ 1721 [ $ 30.65 | $ 215 94.08 120.47
309 Nails EA 525 0% 525 0.000 $ 48.00 | S - $ 005§ 005§ 26 - 26.25
310 3-5/8" Metal Stud @ 16"0.C.@ 20 H EA s 0% s 0360 |5 4500 S 17285 24s0]5 4208|5316 12992 186.47
311 3-5/8" Metal Runner @ Top @ 10' L EA 1 0% 1 0.180 $ 48.00 | S 864 | § 1240 | § 21.04 | § 21 8.64 12.40
312 3-5/8" Metal Runner (@ Bottom @ 10' L EA 1 0% 1 0.180 $ 48.00 | S 8.64 | § 1240 [ $ 21.04 [ $ 21 8.64 12.40
313 Sealant @ All P i LF 40 10% 44 0.010 $ 48.00 | S 048 | § 040 | § 088 | § 39 21.12 17.60
314 Column Wrap Wall As; (10 LF, 200" H) SF 200 IF 10 s B -
315 (1) Layer of 5/8" Gypsum Wall Board (On One Side) SF 200 10% 220 - -
316 No of Sheets (4'x8") EA 7 0% 7 0.280 $ 4800 |8 13.44 | § 17.21 30.65 215 94.08 120.47
317 Nails EA 525 0% 525 0.000 48.00 - 0.05 0.05 26 - 26.25
318 6" Metal Stud @ 16" O.C. @ 20'H EA 8 % 8 0.360 48.00 17.28 29.60 46.88 352 129.92 222.56
319 6" Metal Runner @ Top @ 10' L EA 1 0% 1 0.180 4500 8645 1480 2344 2 864 14.80
330 6" Metal Runner @ Bottom @ 10T EA i 0% 1 0.180 45.00 S64 14.50 FERT} 23 Sot 14.50
321 Sealant @ All LF 40 10% 44 0.010 $ 48.00 | S 048 | § 0.40 0.88 39 21.12 17.60
322 Column Wrap Wall As; (33 LF, 20'-0" H) SF 660 LF 33 $ - $ -
323 (1) Layer of 5/8" Gypsum Wall Board (On One Side) SF 660 10% 726 $ - $ -
324 No of Sheets (4'x8') EA 23 0% 23 0.280 $ 48.00 | S 1344 [ $ 1721 [ $ 30.65 | $ 705 $ 309.12 | § 395.83
35 Nails] A 1725 0% 1725 0.000 | s 45005 -~ s 005[5 __005[5 86 s -~ s 8625
326 3-5/8" Metal Stud @ 16" O.C. @ 20' H EA 25 0% 25 0.360 $ 48.00 | S 17.28 | § 24.80 42.08 1,044 428.75 615.34
327 3-5/8" Metal Runner @ Top @ 10' L EA 3 0% 3 0.180 $ 48.00 | S 8.64 12.40 21.04 69 28.51 40.92
328 3-5/8" Metal Runner @ Bottom @ 10'L EA 3 % 3 0.180 $ 48.00 | S 8.64 12.40 21.04 69 28.51 40.92
329 Sealant @ All Penetrat LF 132 10% 145 0010 |5 4800]s 048 040 0.58 128 .70 5808
330 i ing Wrap As; (2 LF, 20'-0" H) SF I i 2 s s -
331 (1) Layer of 1/2" FRT Plywood Sheathing (On One Side) SF 40 10% 44 - -
332 No of Sheets (4'x8') EA 2 0% 2 0.320 $ 48.00 | S 1536 [ $ 6248 | $ 77.84 | $ 156 30.72 124.96
333 Nails EA 150 0% 150 0.000 $ 48.00 | S - $ 0.05|$ 005§ 8 - 7.50
334 Sealant @ All Penetrati LF 5 10% 9 0010 |5 4500[s  048[S _040]s _ 0ss|s s a0 352
CEILL $ - $ -
ACT CEILIN s s B
33 125 24'S Acoustical Ceiling Tile SF 5] 0% 167 0060 _|S 4500[Ss 2888 388]5 _ 676]5 1130 S asisd|s  easna
336 No. of Tiles (1'x 2") EA 84 0% 84 - -
337 Main Runner/Tie Beam @ 4'-0" O.C. @ 10'L EA 4 0% 4 0.120 48.00 5.76 11.54 17.30 66 21.89 43.85
338 Secondary Runner/Tie Beam (@ "O0.C.@10'L EA 15 % 15 0.100 48.00 480 | § 6.78 11.58 176 72.96 103.06
339 Cross Runner/Cross Tie @ 20" 0.C. @ 4'L EA 19 0% 19 0.065 4800 312 182 4.94 94 598 3458
340 Edge Molding @ Perimeter @ 10 L A 10 0% 10 0.095 4500 3 456 512 1268 126 4541 50.86
341 12 GA Vertical Hanging Wire LF 29 10% 31 0.020 $ 48.00 | S 0.96 0.87 1.83 57 30.10 27.27
342 1/8" Threaded Fasteners @ 12" O.C. EA 100 0% 100 0.010 $ 48.00 | S 0.48 0.08 0.56 56 47.76 7.96
A2.0 Plan Notes GVESIMIBOARDIGRITIING] - -
34 5/8” Gypsum Board Ceilin SF 2% 10% HE - -
344 No of Sheets (x8) | __EA 10 0% 10 0280 |5 48005 134 1721 3063 307 3240 7210
345 Tapping LF 142 10% 156 0.010 $ 48.00 0.48 0.12 0.60 93 74.79 18.70
346 Mudding LBs 15 10% 16 0.285 48.00 13.68 3.25 16.93 274 221.68 52.67
347 Screws| _EA 450 0% 50 0.000 45.00 -~ Is 005 0.05 2% - 24.00
348 355" Metal Swd @ 16" 0.C. @ 10T EA 21 0% 21 0.180 45.00 St 12.40 2104 a5 184,04 36413
349 11\/?1??403163‘1:‘;1 el Lath s SF 283 10% 312 0024 |'S 4800 | S Lis|s  se2|s  707(s 220 S 35900 (S 184485
350 Cross Channel Support System @ 2-0" O.C. Each Way @ 10'L % % 2 0200 |5 4800(s  960[S 2456]5 3416|5968 S 27197(s 69578
Support Wires @ 4'-0" O.C. Each Way @ 18" L $ 13598 | § 50.29
SUBCONTRACTING FEE
$ 69,055.00 | §  121,711.52




DETAILED BREAKDOWN OF ITEMS

Prepared for:
Project ID:
Scope:

Davies Family Retreat, 229 Walton Toll Road Carson City, NV 89705

6022024

Metal Framing, Drywall, ACT Ceilings, Insulation, Doors

Si.1

STRUCTURAL METAL FRAMING

METALS

COLUMNS

HSS 4 x 4 x 1/4" Steel Column @ 20' H EA 2 0% 2
Plan Notes 8" x 8" x 1/2" Base Plate EA 2 0% 2

8" x 8" x 1/2" Cap Plate EA 2 0% 2

BEAM

HSS3x5x3/16"@ 10' L EA 7 0% 7
Plan Notes L4x4x1/4"@S'L EA 3 0% 3

L5x5x5/16"@5'L EA 23 0% 23

L5x5x5/16"@10'L

THERMAL PROTECTION
ROOF INSULATION

Note: New Roof Membrane Along W/ Insulation Is Shown In
Drawings, But Google Map Shows Existing Roof. Kindly Verify It

THERMA

L & MOISTURE PROTECTION

And Modify A

Plan Notes

20

A-201

Door Schedule /
A-801

(2" Thick) R-25 Tapered Rigid Roof Insulation
-Size of 1 Batt is 15" x 93"
Note: By Landlord Under Shell Scope

14'-0" x 10-0" Storefront w/ Sliding Door

Glazing: Insulated Glazing
Material: Aluminum
Frame Material: Aluminum

EA

220

EA

0%

220

0%

3-0" x 7'-0" Single Leaf Door
Material: Hollow Metal
Frame Material: Hollow Metal

EA

0%

3'-0" x 7'-0" Single Leaf Door w/ 180 Deg Door Viewer
Material: Hollow Metal
Frame Material: Hollow Metal

EA

0%

3-0" x 7'-0" Single Leaf Door w/ 5" x 30" One-way Vision Lite
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

0%

3-0" x 7-0" Single Leaf Door w/ 5" x 30" Two Way Vision Lite
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

0%

3'-0" x 7'-0" Single Leaf Door w/ 180 Deg Door Viewer
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

0%

3-0" x 7'-0" Single Leaf Door
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

0%

3'-0" x 7'-0" Single Leaf Door w/ 24" W x 12" H Prefinished Louver
Material: Solid Core Wood
Frame Material: Hollow Metal

EA

0%

3'-0" x 7'-0" Single Leaf Door
Material: Solid Core
Frame Material: Hollow Metal

EA

0%

6'-0" x 7'-0" Double Leaf Door
Material: Plastic Honey Comb
Frame Material: Hollow Metal

EA

0%

3'-4" x 3'-4" Prefinished Marathon Package Chute Security Door
Material: Metal
Frame Material: Metal

EA

0%

21

22

2'-6" x 3'-0" Roof Hatch
Material: Metal
Frame Material: Metal

HARDWARE
Storefront Door Hardware Set As:
- Keyed Lockset (1 EA)

-7 Pin Exterior/ Interior Cylinder (1 EA)

Note: Sct Sensors To Open Doors When Approached On the Desired
Side

EA

EA

0%

0%

Hardware Set As:
-1 Stop Face Mount Self Closer

-1 Delayed Exit Device w/ (7) Pin Mortise Cylinder
-1 Alarm Lock Push Bar (Model 715)

- Concealed Installation (Von Duprin EPT-10)

-1 Power Transfer Hinge & Detection System

EA

0%




23

24

25

26

27

28

29

32

A-801

Hardware
Schedule / A-801

Hardware Set As:
-1 Stop Face Mount Self Closer

-1 Delayed Exit Device w/ (7) Pin Mortise Cylinder
-1 Alarm Lock-Push Bar Siren Lock (Model 700)

- Weather Stripped & Accessible Threshold

EA

Hardware Set As:
-1 Stop Face Mount Self Closer

- 1 Kick Plate Push Side

-1 Trilogy T2 Lever Digital Lock (By Alarm Lock System) w/ (7) Pin
Mortise Cylinder

EA

0%

Hardware Set As:

-1 Hinge Face Self Closer

-1 Kick Plate Push Side

- 1 Latch set (#93KON14C626) w/ Curved Return Lever

EA

0%

Hardware Set As:

-1 Hinge Face Self Closer

- 1 Kick Plate Push Side

-1(7) Pin Cylinder w/ Curved Return Lever

- 1 Mortise Lock (45H7-TD-14-H-626) w/ Interlocking Deadbolt
Combine w/ Thumb Turn

0%

Hardware Set As:
-1 Hinge Face Self Closer

- 1 Kick Plate @ Push Side

-1 Latch set (#93K7-D-14C626) w/ Curved Return Lever
-1(7) Pin Mortise Cylinder

EA

0%

Hardware Set As:
-1 Hinge Face Self Closer

- 1 Kick Plate @ Push Side

-1 Latch set (#93K7-D-14C626) w/ Curved Return Lever
-1(7) Pin Mortise Cylinder

-1 Marble Threshold

EA

0%

Hardware Set As:

-1 Hinge Face Self Closer

- 1 Kick Plate @ Push Side

-1 (6" x 16") Push Plate (Trimeo 1001-9)
-1 (4" x 16") Pull Plate (Trimco 1013-3B)
-1 Marble Threshold

EA

0%

Hardware Set As:

-1 Padlock (LSDA SFIC2LC)
-1 (7) Pin Replacable Core

-1 (12") Chain

-1 Side Bolt

EA

0%

Hardware Set As:
-1 Padlock (LSDA SFIC2LC2)
-1(7) Pin Replacable Core
-1(12") Chain

-1 Side Bolt

EA

0%

Hardware Set As:
-1 Stop Face Mount Self Closer

- 1 Kick Plate @ Hall Side

-1Trilogy T2 Lever Digital Lock (BY Alarm Lock System)
-1 (7) Pin Mortise Cylinder

-1 Electric Strike w/ Locknetics (VON Duprin 6211)

EA

0%

39

40

41

43

45

46

48

49

50

51

52

53

55

56

57

AL0-A4.2

Plan Notes

Sign Access Panel Hardware Set As:
-1 Locket w/ (7) Pin Cylinder

DRY WALL ASSEMBLIES

EA

FINISHES

0%

5/8" Gypsum Wall Board SE 19324 10% 21256
No of Sheets (4x8) | __EA 665 0% 665
Tapping (500 LF Rol)| _Rolls 19 0% 19
Mudding (3.5 Gallon Box)| _ Box 23 0% 23

Screws|  EA 31920 0% 31920
1/2" FRT Plywood Sheathing SF 40 10% 44
No of Sheets (4x8) | EA 2 0% 2

3/4" FRT Plywood Sheathin SF 1684 10% 1852
No of Sheets (4x8) | __EA 58 0% 58

1/2" CDX Plywood SF 217 10% 2439
No of Sheets (4x8) | EA 77 0% 77

3/4" APA A-D Plywood Backboard SF 1202 10% 1322
No of Sheets (4x8) | _EA 2 0% 2

5/8"A-C. APA Plywood SF 1169 10% 1286
No of Sheets (4x8) | EA 41 0% 41

Nails| _EA 16500 0% 16500

3-5/8" Metal Stud @ 10'H EA 140 0% 140
3-5/8" Metal Stud @ 20'H EA 416 0% 416
6" Metal Stud @ 10'H EA 18 0% 18
6" Metal Stud @ 20' H EA 33 0% 33
8" Metal Sud @ 12'H EA 29 0% 29
3" Metal Stud @ 20' H EA 83 0% 37
3-5/8" Metal Stud Bracing @ 12'H EA 50 0% 37
6" Metal Stud Bracing @ 12'H EA 6 0% 37




58 8" Metal Stud Bracing @ 12 0 EA 10 0% 87
59 14 GA. Clip Angle @ 10' L EA 418 0% 418
60 3-5/8" Horizontal Metal Bridging @ 2' L EA 50 0% 37
61 6" Horizontal Metal Bridging @ 2' L EA 6 0% 87
62 8" Horizontal Metal Bridging @ 2' L EA 10 0% 87
63 3-5/8" Metal Runner @ 10' L EA 148 0% 148
64 6" Metal Runner @ 10' L EA 16 0% 16
65 8" Metal Runner @ 10' L EA 30 0% 30
R-13 Rigid Insulation 5
6 Note: Size of 1 Batt is 15" x 93" Batts 048 % 048
Sound Attenuation Blanket Insulation N
o7 Note: Size of 1 Batt s 15" x 93" Batis 24 0% 24
Sealants @ All Penetrations
o« -Alex Fast Dry 10.10z White Acrylic Latex Silicone Caulk Single Canridges 7 o 0
Cartridge
Note: 1 Cartridge Covers 55 LF
ACT CEILING
6 12" x 24" Suspended Acoustical Ceiling Tile SF 152 10% 167
70 No-of Tiles (I'x2)| __EA 84 0% 84
71 Main Runner/Tie Beam @ 10' L EA 4 0% 4
7 Sccondary Runner/Tie Beam @ 10 L EA is 0% is
73 Cross Runner/Cross Tie @ 4 L EA 19 0% 19
74 Edge Molding @ 10'L EA 10 0% 10
75 12 GA Vertical Hanging Wire LF 29 10% 31
76 1/8" Threaded Fasteners EA 100 0% 100
A20 Plan Notes [ CArSUM BOARD CEILING =
77 /8" Gypsum Board Ceiling SF 283 10% 312
78 No of Sheets (4x8) | EA 10 0% 10
79 Tapping (500 LF Rol)| _Rolls 0.3 0% 0.3
80 Mudding (3.5 Gallon Box)| _ Box 03 0% 03
81 Screws|  EA 480 0% 480
82 35/8" Metal Stud @ 10' L EA 21 0% 21
16 GA. - Diamond Metal Lath .
83 Mfz./Model: Clark Dietrich BM15 SF 283 10% 312
84 Cross Channel Support System @ 10' L EA 28 0% 28
85 Support Wires @ 18" L EA 35 0% 35

PROJECTED COST
OVERHEAD AND PROFIT
INSURANCE
CONTINGENCY
TAX

SUGGESTED BID



